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1. If the capacity of a cylindrical tank is 1408m*® 1. g:; & TERE 7 #ex T a1 MR a1 By

and the depth of the tank is 7 meters then St — /{LCV ! ot
radius of its baseis - . | D64 o /\/’ "
(1) 64 meter @) 4% q;/z Ik J&:j
g; i6m I;Zrer B) 16 ;ﬂ/ t
(4) 8 meter = ag)% 8 q%a—éﬁ gt _
o TR S painted on the cloth is a live example 2 S W A ARIERT FREd
of Nathdwara Painting style. T SRR 2
(1) Singhasan ' (1)' ﬁl%‘lw
(2) Pichwai @ R :
(3) Phad - 3) v \
(4) Horse - |

3.  Ratio of the volumes of two cones is 4:25 and

their heights are in the ratio 25:64, then the
ratio of the radius of their base is -
[ 3:4 '

2 5:7

3 4:9

4 16:25,

4. Which building of Fatehpur Sikri has been

called “The pearl of Architecture” by Percy
Brown? v .
" (1). The Palace of Turkish Sultana

(2) Panch Mahal

(3) Buland Darwaza

(4) Ibadat Khana |

5. A question and two statements I and II are

given below, you have to decide whether the
data provided in the statement are sufficient
to answer the given question.
Mahima is taller than Kala and Sheela is
shorter than Asha. Who among them is the

shortest? _
Statement - (I) Sheela is shorter than LS
Mahima. '
(D Asha is shorter thanp A
Kala. ;
(1) Only statement I is sufficient. 5

(2) Only statement II is sufficient.
(3) Both statements I and I are
sufficient.

o - ~-44) Ncither —statement I nor I are

: ;sﬁf/ﬁci?xit. e

aﬁg@eﬁzgmma'qu&%%@ﬁ?‘
STET SArgdl BT U 25:64 ¥, W ST
IR B Tl &1 U § — )%—{”f’“
(1) 3:4 AR
2 5:7

(3) 4:9

4) 16:25 - |
BAEQR Wb o fhe TART BT o™il q1e 3
"R FAT BT AR HET &7

(1) @I Fea™T &7 A8

Q) dYuuEd

(3) oI <G

4) zarEd @Y
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6.

10.

11.

‘No matter how gooqg the foreign rule may
be, cannot match Swarajya,” Whose views
are expressed in this Statement? -
(1) Raja Ram Mohan Roy

(2) Swami Vivekanandg

- (3). Bal Gangadhar Tilak

(4) Swami Dayananda Saraswatj |
Non-terminating, non-repeating detimals are
classifiedin- -~ < 2

(1) Irrational numbers

- (2) Natural numbers

(3) Rational numbers L
(4) 'Whole numbers S

What new name was givén to, Jalore by
Ala-ud-din Khilji after conquering itin 1311
AD? :

(1) Khizrabad
(2) Khairabad
(3) Jalalabad
(4) Mominabad

Which civilization of Rajasthan:’is also

known as Tamravati Nagari?

"~ (1) -Bagore

(2) Ahar |
(3) Balathal
@ Iswal

A big cube of side 8 cm is formed by
rearranging together 64 small identical cubes
each of side 2 cm. The corner cubes in the

&

top-most layer of the big cube are removed.

£ TRIST B R T FR A & 5 por

i e faar aifrers 2y ¥
(1) TS XM e /™ NATHE
@) @ fReT ‘4,”{
() 91e TR s A
(4) N Y e - |

7.
2~ far ST § — ]
O o sy f1F G
@ wphw wen ¥ 89 gx T
@) R Eerd 350
: @ qof = F '
8. araroEd et ¥ 1311 € § Wik @y
ST®EY ST AT R T 17
O fwREm g
@) IREE C@yﬂ e
@ wmmre <0 VE=L
@) wifEEE | o356
9, Waﬁﬁﬂﬂfmaﬁmm@zﬁ
o F A ST o 87 }536 "~
1) 9FR | Az
3w AT 6
(3 gremee
. @ SuI«
@ 8 Wl YOI T TH 9T T 2 W, o arer
64 BIC UM A BT Ub W [AARe

What is the change in total surface areaof the

big cube? .
(1) decreases by 48 cm?
(2) increases by 48 cm?
(3) decreases by 16 cm? e :
(4) No change i.e. remains the same as
previously

The civilization « of Ganeshwar is an

important site of ............. culture.
(1) Chalcolithic

(2) Palaeolithic

() Mesolithic

(4) Neolithic:

11.

B T IR S | 9 B B qa9 S ¢
g H W PN B uHEl B ger 297 omar 21
?ﬁw%@wiﬁaﬁwﬁwqﬁaﬁﬁ
5
@) 489 ot wewm
(2) 48 3. T qgm
(3 1694 @ wem
@ ¥ R 78 8r 8 39 UPR
Tgel oIT B Y& ¥
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12,

13.

14.

15.

16.

17.

Which graphical representation of data is best
suited for understanding the different uses of
water in a single household?

(1) Pie-chart

(2) Histogram

(3) Bar graph

@) Pictogram
If n is a natural number, then (92
always divisible by -

(1) 5only

(2) 13 only

(3) Sand 13 only

(4) 5,13 and 19

— 47 is

Which of the following places is not
associated with the Ahar civilization?_

(1) Gilund :

(2) Bhagwanpura

(3) Abhaneri

4) Rojadi

If the mean of the observations,
X, X+3, X45, x+7, x+10 is 9, then the mean of
the last three observatlons 1s -

M 152 A
) 12§
3 1
3) 11
(€)) 12-
The author of the book ‘Early Chauhan

Dynasties’ is -

() G.N. Sharma

(2) Dasharatha Sharma

(3) K.S. Gupta

(4) G.H. Ojha

In which session of Congress Subhash

- Chandra Bose was elected the President of

Congress?
(1) Haripura
(2) Calcutta
(3). Nagpur
(4) Lahore '

Page 4 of 16
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In a certain code language, PRODUCTIONS

is written as QQPCyRUHPMT. How
ORIENTATION will be written in the same
code language?

(1) PQIDOUBUJPO .
(2) PSIJFOVBSINO
(3) NSHFMVBSJINO
(4) PQIJDOSBSINO

Which of the following rulers of Mewar sat |

on the throne of Mewar after Maharana Jagat
Singh?

" (1) Maharana Karansingh

(2) Maharana Rajsingh

(3) Maharana Amarsingh I

(4) Maharana Amarsingh IT
Who was known as Kika before he became
the ruler?

(1) Maharana Sanga ‘

(2) Maharana Pratap

(3) Maharaja Jaswant Singh

(4) Raja Man Singh -

In which city of Rajasthan the “Jin Bhadra
Suri Granth Bhandar” is located?

(1) Jaipur

(2) Jaisalmer

(3) Jalore

@) Jodhpur

Who is the alithor of Mudrarakshasa and

" Devichandraguptam?

(1) Shudrak

(2) Kalidas

(3) Vasubandhu

'(4) Vishakhadatta

The revolutionary associated with the

establishment of “Veer Bharat Sabha” was -
(1) Bal Mukund Bissa.
(2) Arjunlal Sethi
(3) Manikya Lal Verma
(4) Kesari Singh Barhath

If o’ +B3=7, o+p =3, then o and P are
the zeroes of polynomial equation -

(1) 9x*+20x-27=0

(2) 9x2-20x+27=0

() 9x2-27x+20=0

18.

19.

20.

21.

22‘

23,

Ife o fadiy %S 9T §, PRODUCTIONS
B QQPCVBUHPMT forar Sar €, o =
B AT H ORIENTATION a“ﬂ# forar?

o) PQIDOUBUJPO

(2) PSJFOVBSINO

(3) NSHFMVBSINO

(4) - PQIDOSBSINO
7 A | BT IR TR SaRiE ®
TN HATS B T W A3T?

(1) ¥ERIT PRURHE
(2), HBRIUN XSRS

(3) HERIV FRREE 1
(4) VERIN IFRREE I
D 99 | Ugel PN Dbl & A9 & ST |

NIGIE I i
(1) ¥ERIOT &R m
(2)* ¥ERION yq@

Q)  TERET wEdd Rig |

4) o wH RiE

T AE U ISR '\’l’\ﬂ'\“’-TFr?FﬁT\'TEF{\’
HRe@g? ¢

(1) “HEAR

(2) THER

(3) SR -

@) SR
Waﬁvé‘cﬁaﬂma}ﬁﬁmﬁﬂ%?

O e
2) Freie™

Q) TgTY

4) faemEess
Shifcerl oI — ‘
(1) e

(2) Srefrierer
(3) Wi e a4
@ Had R IREC

@ WA ¥ FEtad

A o +pi=7, a+p= 3a’ra3ﬂ’\fﬁﬁ)—\q

g, W & I &
" ox2+20x—27=0
0x2-20x +27=0
@) 9x2-27x+20=0
@ 9x2-27x-20=0

C @3 owx-20=0
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25,

26. .

27.

28.

29.

30.

31.

32,

33.

34. .

Bhoji Lambardar was related to which 2 o7

Peasant Movement? 3 (1) STl
1) Alwar . ‘ (2) WRAR
(2). Bharatpur . E:;) Arax
(3) Sikar ) ﬁ
@ ‘Begun L

() WWWWW @) | T, T

(3) ured, amf. @ e
ﬁmwﬁmmmmﬁé’f‘?ﬂg? . '

AR, @ =Hm

@) W @) i
ﬁﬂﬁi@ﬁﬁﬁaﬁﬂwwﬁddressfﬂ%awqﬁ%?

) - o i (). wERE -

(@) FuF : . @ FEro

f wres 1 Gfe-fawes oIE =7 . . ‘ :

(1) &MY = FaT + AN _ @2 wm#rzm_+aﬁ‘rﬁ
@) Reg = B + aFig | (4) AREET = dR+ ST
.ﬁw%ﬁga?@‘riﬁrwwﬁmm— CER NN L

@) oy _ o THER O

@) . ol v g 22 .
(@) wifrea R L e 0@@4{
@ wwEs, L A S

(2). ‘ o b
ﬁmﬁwﬁwﬁmg@%“? .

(1) 3 9 IX @ g9l

B 993 : @ T 9T

Ident1fy the correct Indirect form —
She said, “I would like to see it.” -
(Change to Indirect speech) - - .- ‘ _ .
(l) She said that she had liked to see it. - {2) She said that she would like to see it.
(3) She said she had been liking to see 1t)( (4) She said that she llked to see it.

Choose the correct form of the vetb to fill in the blank space —

Each of the boys ................... P asked to contribute to the Famine Rehef Fund
(D was o ' (2) werey :
3 o L (4) has )(
The correct antonym of ¢ emgma is - ' : ;
(1) frightened @ . (2) energy
4. (3) mysteryyx - (@) clarity

Change the following sentence to a passive one — -
All his relatives approved of his decision, . ‘
(1) His decision is approved by all his relatives. s 2
(2) His decision is being approved by all his relatives. y - & X
3) His decision was approved of by al'l his relatives. ¥
(d) His decision was approved by all his relatives.

Page 60f 16 ¥ O \"“
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35.

36.

37.

38.

VAANL ~

Identify the correct determiner — hach
......................... am t miss such a chance.
D Those. an would not m @) Few
(3) Many - @) Some |
Extended form of RSCERT is- 36. IMUAMNZIRA. B fremRa vy & —
(1) Rajasthan  State . Coupgi] of (1) YSRN  Re oRtad siw
Educational Research and Training T Red gug ST
(2) Rajasthan State Council of Edycation (2) XISTRIN e Frefad dife Ww
Research and Training - R gus §Fr‘17r
(3) Rajasthan Sanskrit Council of (3) IR Frefaa 3ﬁ°5
Educational Research and Training THEe R Tos o
(4) Rajasthan  State  Council = for (4) SISTRIT ¥ BTSN B Tofberied
Education Research and Training - e gos g
The -Isabgol (Psyllium Husk) producmg 37. ISR & S SIGd

districts of Rajasthan are -

(1) Udaipur, Rajsamand and Chittorgarh

(2) Jalore, Sirohi and Barmer

(3) Kota, Bundi and Jhalawar - -

(4) Sawai Madhopur, Tonk and Karauli
Which of the following statements are correct
with regard to recent Supreme Court

Judgement on Right to Privacy?
(A)

Right to Privacy is declared as an

intrinsic part of Article 21 that

. protects life and liberty.
10 Judge Bench of the Supreme Court

delivered this historic judgement.

(B)

The judgement was delivered by the
Bench headed by Chief Justice of
India J.S. Khehar. '

The Government has argued that the
‘ guarantee

©

(D)

Constitution does not
individual privacy as.an inalienable
Fundamental Ri ght.

Select the correct answer using the code.

given below -

(1) OnlyA,CandD
(2) OnlyBandC
3) (-)nly'B Cand D

A, B, ,Cand D

s
_4 ‘\
- N N

- 38.

)
2 ma‘r\r ﬁqﬁ‘z?r 3R En@ﬁ?

3 @ 3 3R SIS

4) Wﬁﬁﬂgva?ﬁsﬁ?aﬂ%ﬁ
MUARAT & JIfeR W Hded e &

B B G O PN W que g
(A) ORI BT ARBR AT 21 D T
- iaRe AT @ wu A e fear T
'%a‘rﬁaﬁaﬂ?waﬁwaﬂm
I
B) ﬁmﬂﬂﬁé$10mﬁﬁ"ﬂtﬂﬁe{?ﬁ'-'
mﬁmmﬁml s
(C) uE g wRd & F=g <IREE
. TH. WER DY Iegerar §. @y
fear am) v
D) wWoHR I T& fam & f& w6k
T MO @Y TP SEd
. AR aRER & wY F TR TE <l
: e | \
ﬁﬁﬁqwmmmﬂmmﬁw’
T - | |
(1)‘fB—crc=rA,Caﬁ‘\’D
@ @aaBIRCK
(3 @@ B,C3RD
@ A,B,C3RD




~ .

-

: - 9.
39. Identify which of the following statem'ent/S 37
about the composition of the Council of
States is/are true. Select the correct answer
from the code given below. b
(A) The Council of States shall 8
- composed of not more than 25
members.
(B)  The 12 nominated members shall be
from the fields of science, art, soc1d
service and sports.
(C) The process of election of the
members from the States and the
- Union Territories is the same.
Code - .
(1) Only A is true - p
2 Only A and B are true
(3) Only B and C are true .
(4) Only Aand Caretrue =~ -
40. InJune 2022, Avani Lakhera won gold medal ~ 40.
in the R8 — Women’s 50 m Rifleé 3 position = .
SH1 finals in Para Shooting World Cup 2022
~ in France. What was her score?
(1) 4583
2) 456.6
(3) 45538
(4) 4542 _ |
41. Recently Rajasthan Grameen Ajeevika Vikas ~ 41.
Parishad’s Mission Director has signed MoU
with Managing Director of Stree Nidhi of -
which state to set up the first all — women
— run cooperative bank in Rajasthan?
(1) Telangana
(2) Andhra Pradesh
(3) Tamil Nadu
(4) Gujarat
2. Fﬁu form of ‘RISE’ in RISE-DIKSHA portal ~ 42.
Cois- _
(1) Rajasthan Interface for School - B
' Educators | .
) .Raj%@an Initiative of Schoo] -
Education - S
(3 Rajasthan Interface of School
Education : v
o - A% _ Rajasthar- Initiative for School
= 1Educators = B 2
LBy (@RS

e ——

ﬁfﬁf%ﬁaﬂmﬁﬁmwﬁmzﬁqﬁ |
3 P & 9 @i /39 ¥ ()
&/ 7 Ry g g # @ Wl SR o1 w
HRIY | -

(A)  XTST | B AE T 250 4 it
ﬁmaﬁqu -~

B) 12 wArT wEd =, e, AN~
b ﬁmaﬁ?@)aﬁsﬁﬁaﬁ
(C) . 3rut 3R B TR F_wT & Wl

@ fate @Y ufbar e S g1

HE — by Ty

(1) BacT A 98 ©

(2) daTA3IRB TE €
() daa B iR C 981 &

@ FIATAIRCHEE

ST 2022 ¥, 3 oeRT A Wi A IR e
fagqery 2022 # 7R 8 Afgerm 50 . TEH 3
TSN U041 BIg-el # X0l UG SidT & |

| W oIT?

(1) 4583
() 456.6
(3) 4558
@ 4542 | ,
Bl B H YR UM IeiiaeT faera
aRug & Feee 1 e § w9 — Afgen
— Harfed TEaR 9% wifig exw @ fou

AT SO R ERIRR Py §?

e’ GISHIGI :

(2) SRR

(3) dferTg

(4) ORM

R4y a1 B | B .2 B L

g - ‘ 3

(1) WO SR®E,  BR whd

@) <oRIE  3MRTRET st
% |

@ T S diw,

@ Ieorert gRRmfRT, Bk g
e —



43.

45,

46

-Which of the following statements about

“Raj Skill 2022” competitjop are correct"
(a) Itis held in three Stages.

(b) It is held for training of industrial
~ training institutes.
(c) Technically proficient non ITT youths
could also take part in it,
(d) It is held at government & private
industrial traning institutes.
Choose the correct answer on the basis of
code given below: i
(1) Only (a) and (b) '
(2) Only(), ()and(c) .
(3) Only(b)and (d)
(@) All(a), (b), () and (d)-

For class First to Fifth, if there are between
61 to 90 students admitted in a class, then
how many teachers will be required
according to RTE Act 2009?

@™ 5

2 2

@) 4

@ 3
By evolutionary relationship’s point of view-
Similiarity in bone a.rrangement‘ in the
forelimbs of lizard, bird and human, is an

example of -
(1) Analogy

. (2) Homology

(3) Osteology

(4) Chronology ;
The work done to increase the velocity of a
car of mass 1000 kg from 36 km/h to 54 km/h
is - :

1) 3125k .

(2) 62.50kJ

43.

N R 2022 wRRfET @ e

o Frefilem & < B o 80

44.

45,

46.

@) ' & o 2

@) w® e gRemr et @
RENRRIT & fory s &8 &1

(M T v ¥ gee R arddend

qar A 5 A @ Wy o
@) . I8 o g B aeifie gRer
TR R o T 2
ﬁwzﬁazﬁquﬁ’rwgﬁq
1) 99 (@) 9 (@)
@ @a (@), @ 7 @@
@) @ (@) ()

@ wf @)@ @ i @)

Ul | UiEd) wem @ forw, afe ue wer A

61 ¥ 90 & 917 B wdl ¥ A AIRAE
IR 2009 & IgAR fhan Rrl @1

eI HAT BE?

@ 5
2 2
@ 4
@ 3

'G‘}aﬁfﬁmé&‘cﬁrﬂrﬁ e, q&ﬁaﬂgﬁr

D IUUS B ARel B gwen ¥ WA
SRS

(1) * |HgIT BT
(2) HHSIIAT BT
(3) afRRey fas= &1

@) woEE B
'1000kgawmaﬁwwww36hn/h

@r54km/ha$aa%rff%mwm

%'_ [ xmo® 2
) 3125K cl (57 -
2) 6250k /waf‘g"x(gxiz
(3) 125%7 &

@) 250kJ
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47,

49.

. 50.

vei 5],

. When was SMILE progfammc fir

Which of the following function is related to
-educational management?
(a) School organization
(b) Planning of activitics
(9] Controlling of system
Select the correct answer using the code
given below —
Code -
(1) (a) and (b)
(2) Only (b)
3) (a)and (c)
@) (a), (b) and (c)

Rajasthan Government has signed MoU With,
. Vedanta Group to develop 25 thousand

Anganwadi Centres as ......................

(1) Yashoda Ghar
(2) Nand Ghar

(3) Mamta Ghar
(4) Janani Ghar,

Which type of -transverse sand dunes are
found in western Rajasthan? '
(1) Barchan and Sief
(2) Parabolic and Vegetated Linear
(3) Barchan and Lee Linear
(4) Barchan and Parabolic

The name of the ihtegrated conservation
mission, approved as “Flagship Programme”
by Union Government for conservation and

 Tejuvenation of National river Ganga is -

(1) Ganga Action Plan Phage Im

(2) Har-Har Gange Programme

(3) Namami Gange Programme

(4) Ganga Action Plan

st initiated

by Rajasthan Government? g
(1) 13 April, 2020

(2) 02 November, 2020

() 13 April, 2021 i

“r20ms 20s B

LS Ut

47.

48.

49,

. 50.

51.

=

prefafad & | B w1 B dRE weem @
rraferd 87

(a) faEne we v

) TRk @ g -

(c)  WUoITelt gt - '

A QU 77 He B wEEar ¥ G ) g
AT BTG —

'EE("’_.

1) (a) AT (b)

2) B9 (b)

(3).: (a) AT (c)

4 (a), (b) T (c)

RIS IRBR 3 IS A8 & AT 25 TR

frg &1 |
1) " TeiET TR

@ =R

3 FHATWR

'-,(4);' S ER .

qﬁaﬁmﬁﬁqﬁm$a§m

IIPT |U T S &7

Q) TEH TE ¥ ~

@) TRIR TE Ty 3o i

3) W@‘Jﬂ?ﬁg@%@w

@) WO T waeE

ST T T B e ol i @ forg
TR TR @ W

_ TRETT e 1 A & —

(1) M TRE & o 11

(2) TR N gnmy -

3 TR T wa

@) T VRN @

NIV XRPR ERT Wegerwy SMILE 7dipH

@9 Y BT TR o

M 13 s, 2029

:(2) 02 AR, 2020

@3) " 13 kT, 2021
@ 21 5[, 2021
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52. Which of the followj

climate of Rajasthan?
(A)  Latitudinal Location
(B) Longitudinal Location
(C)  Distance from Arabian Seq
(D)  Relief characteristics

(1) AandD '

(2) A,BandC

(3 A,CandD

4 B,CandD

53. The maximum area of Rajasthan state 1s .53.
covered by which railway zone? '
(1) Northern Railways
(2) North-Western Railways -~
(3) Central Railways
(4) North-Central Railways

Ing factors mﬂuencc the 52.

T,

54, Which of the following is not included in the 54,

functions of management given by Henri
Fayol? | :
(1) Organization go <t
(2) Budgeting ' /
(3) Planning
(4) Coordination y
55. The difference between East—West and 55.
North—South extensxon of RaJasthan is -
(1) 48km - . S
2) 43km st
361, co
7 (3) 62km —
(4) 58 km

56. In Wthh Article of the Constitution of Indla, 56.
the concept of “Cabinet Secrecy” is applied? |
(1) Article 78
(2) Article 62
© (3) Article 69
(4) Article 53 =
57. * For which work Madhu' Kankaria has bee? 5;
awarded ‘Bihari Puraskar’ for 20217
(1) Novel “Hum Yahan The”.
(2) Story “Jal Kumbhi”
(3) Tovel “Snkhte Chinnar”
_(4) Novel el “Salam Aakhri”

W@ﬁﬁﬁaﬁ?ﬁmmqﬁ

STeTATY BT TAIfad Ry §?

(A) e saRefy

(B) < swRefy

C) SEARI @

D) S=Eg fAEyae

(1) AIRD .

(2) A,BaiRC

(3) A,C3RD

@ B,C3IRD

RISTRI N9 & AfABbed 83 P19 ¥ Yerd &

P I 3T 87

(1) ST ¥

2) SRR Yo

(3) =T el

@) TR |
fr=feRaa 9 9 @19 91 2R $aId gRT Qv
TC e & BT A e 27

1) e

(2) doie T
@) frREeE

@) I
Wmm Gg q:ci—tr@ﬂq 3ﬂ? STR—GfRyoT ﬁw

ﬁw%—

1) 48 R
(2) 43 f&A.
@3) 62 fHA.
@ 58 frA 2
N
Mo #) eryRoT Ty S &2
1) srgees 78 LAl g

2) ITBI62 — S90S

3) T 69 —L/

@ sTs3 Ve R
mma%mqgmﬁmzﬁzozlzsm
ﬁ?ﬁrg?wﬁmw%? |

(1) Sy EH T8 97

) ?ﬁ'r-ﬁ',m@ﬂfr

(3) ST “gE AR

@) ST HaH e

‘//I,‘j’c‘[
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59.

60.

61.

62..

63.

Which is not a correct match?

River Tributary
(1) Luni - Parwati
(2) Kalisindh - Ahu
(3) Banas - Kothari,

(4) Chambal Mej

Section 25 of the RTE Act 2009 deals

with - .

(1) Constitution of National Advisory
Council :

(2) Power of Central Government to
remove difficulties

(3) Pupil-Teacher Ratio

(4) School Development Plan

Secondary Educatlon is -
1) 2year
(2) 3year
(3) 5 year
4) 1year

Identlfy the correct group of grounds on the
basis of which a citizen may be disqualified
to vote -
" (1) unsoundness of mmd cnme ‘non-
. residence, bankruptcy

(2) bankruptcy, illegal pracﬁce cnme

corrupt practice
'(3) crime, corrupt or illegal practice,
non-residence . _
(4) corrupt or illegal practice, crime,
unsoundness .of mind, terrorist
activity :

According to Census 2011, the sex-ratio of
rural and urban population in Rajasthan is —

Rural Urban
) 930 . - 890
2) 914. - - 1924 \
3 91 - - - 901
@) 933, - 914 }

On 14" June 2022, the first privéte train

.

Tenure of the members of Rajasthan Board of 60.

61.

aaﬁ-«rw'ﬁiﬁ‘ﬁﬁ%?'

» Tqelddh A8
o)) ?E’l‘f g
@) P - 3,
3) 99 -~ CAGIE
@) T o

%ﬂ'\r-@ré e 2009 ’cﬁ’r gRT 25 mﬁa

(1) g wAEdR 9RYE BT TIT
Q) PRIl B R B P LT WER
Ty wfad

(3) vE-Es U 26 -7

@) fRremey e’ AT ) 22—
ISRIE qreaf¥e R 98 @ 9ew} @y
PP BT & —

D) 239 - '

‘@ 3 ST

3)  5a%

@ 149

TP MRS B AGMEGR BT TN A
mw¢m¢wwaﬁﬁ%ﬁ
BTG — -

M) B oy, swm, R fam,

62.

63.

under Bharat Gaurav Yojana was started [

from which place to which place?
(1) Coimbatore Northito Samagar Shlrd1

- (2) Varanasi to Mathura

(3) Coimbatore South'to Rameshvaray
(@) Varanasi to New 15e11u U

Fa W SR N

~aL

@3) AWM, ¥ A7 i R, iR
" . iilalql .

IR - TR

1 930 . 890

(2) 914 R 924

3) 951 A 901

Ot 2oy 914

14 5 IR e AT & aFid
qgel WIS 7 wat
& T i Fal IH B forg g™

) ﬂﬁ'ﬂ'@?w\q
0 m%%mwm

3) PR oy R
(4) EIN Hil -\EI' =|§ ﬁﬁ'
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66.

67.

68.

=) 'In India “Natjq

B :
© was launched ; in t}?:: yCIean Air Programme’
o (M 2002 SAt |

2 () 2019

(0.3 2017

S (4
o @ 2016

basms in Rajasthan?

; (A) Barmer—S_anchor Basin
(B)  Jaisalmer Basin
(C)  Bikaner-N agour Basin -
(D)  Vindhyan Basin
(1) A, BandC .
() A,CandD B
3) B,CandD -
4 A,B,CandD S
The Bhukia-Jagpura- of gold i
The Bhul gpura pelwara belt of\,mgold is
(1) Pratapgarh
(2) Banswara -
(3) Jalore
(4) Jhalawar

Which of the followmg is not an objectlve of
DIET?
(1) To organize trammg of -inservice
teachers of elementary education
(2) Operation  of DIKSHA—RISE
. - programme in schools '
(3) Conduct programmes of Actlon
' Research -
4 To  organize workshops /
" Educational Technology and work
experience :
Match the following and select the correct
answer from the code glven below -

for

List-1 _List- 11
(Tourist Site) \ (Loc_atlon)
(A) Delwara @) Slkar |
(B) Nathdwara (ii) Sirohl- .
(C) Bhinmal (i) Rajsaman
(D) Ganeshwar (iv) Jalore
i A B C D o
@ i i iv 1
2) ii iii i iv
3) iii i v i

@ ii iv

64.

65,

66.

67.

68.

)

(1) 2002#
(2) 2019%
(3) 20174
@) 2016;2# | '
FreferReaa & @ @ ¥ oo
- &2 ﬁw
(A) IER—FER R
(B) <erR IRy - ‘
(C) Srpm—rik R «
(D) fa=gs AafRE
) ABUIC
(2) A,CTID
3) B,C D
4 A,B,CTdD :
GIEEC| gf%m—wrgw—ﬁaam W Rer

& -
1) yawTE
(2) wrHarsT

TR
4) =TS
ﬁwﬁ%@aﬁﬁaﬁqwm (DIET) &I
SRTT TE 87

' -(1) TRYe Rer & @znw_
T R & e W
(2) whell # e85 (DIKSHA-RISE)
®T AT v -

) WWWW
@) ﬁﬁiﬁtﬁi‘ﬁﬁmﬁaﬁ?mm$

forg wrfemeel. @1 s
ﬁw%r@aﬁgﬁ%ﬁaﬁﬁqw:ﬁﬁﬁqw
Be A ¥ w8 SR gew —

o | - g -1I
(e =) (sraReifd)
A fRemmt @G WER
(B) FRIERI (ii) _
(C) ¥i=rel (iii) TORTTR
(D) U (iv)
EE - ‘
A 0B ¢, D
S@ i i, dv
2 ii ik, 1 iv
(\3) iii - \1&{ 1v i |
4) ii v oo il i =
= T
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69.  As per the Census of 2011, which district of  69- -5 FERAT N wat 27
Rajasthan has the highest hteracy rate? : ey . ’
- JhunJhunu AL
(2) Kota (%) et
3) Taipur @) SR
@) Sikar . @ R N 5 fe 1%1@{ i
70.  Ongth; ril 2022, “Artificial Intelligence and ~ 70. 8 A 2022 SRS ?zé'f%fﬁ'\t{
P1ograf:llr)mngOZCent}rS:artl lvt;asl Illnaugirated in o -\ﬁﬁ?ﬁ faremerr # ? i
Sanik School of which district of Ra]astharﬁ _ FﬁTITﬁ"T R P19 e
(1) " Chittor )" s
(2) Jaipur @) AR X
(3 Bikaner (3)., fHER »
(4) Jhunjhunu @) sjgi
71.  Factors affecting the leadership stylc are — 1. #‘1‘_‘[ M T e 'cb'i’# Il DR g~
(@  Personality of the leader (@) 7 BT AT :
(b)  Personality of group member (b)) E el & Afdia v
(c) Nature of task - - (0 Hd B ‘J?ﬁ e
(d  Nature of environment (d) 9Rawr @ yopfay
Select the correct answer using the code I ﬁg T He DI ITANT B Fal SN
given below — ; :
Code - €@ -
(1) (a)and © D) @A)
@ @, ()and(d) @ @, (@Tn@)
(3) (a), (b), (c)and (d) 2@ (@), (), (c) T (d)
| 4 (b), (c) and (d). @ ), rd) :
72. Recently the Food Safety and Standards 72. TS & ¥ IR @rer ey v LIRE? wifRyeRT
. Authority of India gave “Bat Right School” . . Yroreer o 37 faeTert 31 S we @
Certificates to 37 schools of Rajasthan. Tn BT THOIS 34T || 3 Ao § Swr & Wy
this matter, what position is- achxeved by the o Eﬁ’q'\q]' oI BRI fasem 27 .
state in the country?
. (1) First @) geem
(2) Second @) T
(3) Third 3) IR
(4) Fourth . LD 4) =
73.  What are the coefficients of Fe, HzO Fe304 73. f=fafed <mmafe 'ﬂ"ﬂ?mﬂr a1 Sgferd
and Hp respectively on balancing the R W Fe, H20, Fe30,4 3R H, & [orics e
following chermcal equation? T e
Fe+H,0 — Fe304 +H, s FedH,0 - Fe,0, '-HHZ
\ ® 32,12 @ 3,2,1,2
@ 3,4,1,4 3 3414
3) 3,4,1,2 3 3412
,(4) 4,3,1,4 - 4) 4,3,1,4 -
OA- *» _—

Paoce 14 nf16’
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r()- il =th aW#ded Marwar Ratan Padam 74, ARATS I Tl BIAeT PSRN T 2022
; ,) - Omal Kothari Award 20227 fre we™ faar %\'?

.()) , Dr. Mahendra Bhanawat 1) = Ao AHEd

o (2) Dr. Mahendra Khadgawat : , (;) <t 7w @sIEd

U

= (3) Dr.BR. Choudhary

@) < @ IR e

¢ (4)  Shreeky
| mflrMenon Y : 4). #MGAR 7T '
75. Match List-I with List.I 'anq\t's‘élect the - 75. -1 @7 e G-I & e $iR it
correctanswer by using the code givenbelow @ 1 Y MY gg ¥ ¥ T S BT AT
the lists — ' . : .
. ‘:: . % aﬂm -
- List-I - “List - II
(A)  Electoral - (i) = Atticle'58
College for T » ’
election of ‘
President ‘ £
(B)  Qualifications - (i)  Article 56
for election as P
President L o w@ ;
m | (iii) , Article 61 . et Z
(C) Impeachment  (iii) T © Tsuwm . (i) ST 61
of President S B : o B SR
(D) . Ground for ' (iv) = Article 54 . epelm
impeachment PN D) RTafe @ ) TB54
is violation of e T HEIRET —7@
is e ; :
the . :
e i e CARSISYL R
Constitution i . .
Code- \ " N g R i A B C D
A B €D @ i @ i vk
@i i 7 @ i i i vy
@ i @ i W @) .iv i i i
@ v i i @ iv i i
(4) iv ii i~ 111‘ —_— . -
£ @
: . ; - ’ Iy /
—— Mf 16
- OA_ Prg? ' .
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